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[1c1] Fto, AER; [1cla] and [1clb]
[1cla] a <0 and a(3) <BE/H and t=7n B/(-ay-a )

and A= /4 -«

[1clb] VtER({4}); VueEZ; [—to=t@)-2nt.=0= [1lclbl] ]
and [0=Z t(4)-2ut o=t o= [1c1b2] ]
[1c1bl] FzE€R; z2=E f(t1,1) + b and

£(4) :2nt0——;—s/ ag2Baic— JB_—_J cos“[ ;[::_iac ] and
f~(t, 2, 1)=a(2)[2nA— ‘/_l_a cos"{ ‘/% H and
f(, 3, 1):%t(4)+$ V az+2Bzte

[1c1b2] Jz€R; z=E (¢t 1,1) + b and
t(4) =2nt0+—;— V az+2Bztc - 2 ﬁ__; cos‘[ J% ] and
£, 2, 1)—a(2){2nA+ \/_l_a cos‘[ ‘/_“B% H s

f(t, 3, 1)=—§-t(4) -é v a2 Bztc

[1c2] T to, A€ER; [1c2a) and [1c2b]
[1c2a)] <0 and a(3) >bE/H and t=7 B/(~a vy -« )

and A=7r/\[:_a_
[1c2b] ViER({4}): VrEZ; [—to=t(4)-2nt.=0=> [1c2bl] ]
and [0=¢t(4)-2nt o=t o> [1c2b2] ]
[1c2bl] Fz€R; z=E f(1,1) + b and
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t(4) =2nt+— \/ azt2Bztc+ b
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t 2, 1)=a(2)|2nA- 2 and
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